JERVICE MANUAL

AS 3300

SETTON
TOWARDS PERFECTION



U

CONTENTS

PAGE
ERECHRIBREIDNG < losioa: od sas o0 50500 &0 10505 oF 5 B0ias ik e ais s momees e 1ae s 1
ALIGHMENT PROGEDURES . . . . i v vvnnie s o pioimiee ms soisiassus e somimimie s simmins mis mom = ees s 2
D7 ST EHPIIIE . .. . . ovoenie v ne sie e aen mmeein wid Ee aae B wia B e e W T VR SR 8 9
2.2 Power Meter AlIGNmeNt . . . . . . ottt e e e e e e e e e e e e e e 2
BEQURDERGRAN. o oocoaos o mnos s so o aud oo somienens i s0sviy i we s S8 0 we0wiste s ik 50 . ]
ELEGIFRIGAL PARIS EUEATION (P.CBoards) .. o onw in ciimis i s wae o wb sraieiie 50 Sdieas - 4
EXEPECIDRENIRW: =ioor St o 63 SRR e SRR BN RRIREN I SR e e 7
SUHEMARHE DA ol s o ox cn sicn s wa e aiis 58 Hms ad ol fm iiein ats B o v FE SeidE b 8
BAKTN LIST . . . cnir . o cvn v wm sommens s wimimes wie srsmscanany $in Sl e sba soaisinss sip soeiviess s g

CAUTION

BEFORE OPERATING THIS UNIT PLEASE CHECK VOLTAGE
CAREFULLY.

INCORRECT VOLTAGE SETTING MAY SERIOUSLY DAMAGE
THE UNIT, WHEN CHANGING VOLTAGE SETTING, ALWAYS
REMOVE THE POWER CORD PLUG FROM AC OUTLET.




1. SPECIFICATIONS

POWER: QUTPUT : :5 s saisien on sdemis o saives o 55 watts per channel at 8 ohms
(RMS, 2 channels driven at 20 — 20,000 Hz, 0.1 % T.H.D.)

TOTAL HARMONIC DISTORTION ............. 0.1% at rated output

INTERMODULATION DISTORTION . ... ......... 0.1% at rated output

FREQUENCY RESPONSE . ..........¢c0ouun.n. 20 — 20,000 Hz£ 0.5 dB

POWER BANDWIDTH (-3dB) . ................ 5 — 40,000 Hz

HUM ANEEMOISE: oox s sm smse o o smmmies ssasmins it AUX: 90dB
(IHF, short-circuited A network, rated power) TAPE PLAY: 90dB

MAG PHONO: 65 dB  (High sensitivity)-
o : 70dB  (Low sensitivity)

INPUT SENSITIVITY (for rated output) .......... MAG PHONO: 3.5mV (Hi)
vi : 5mV (Lo)
AUX: 150 mV

TAPE PLAY A: 150mV
TAPE PLAY B: 150 mV

TAPE B: 150 mV (DIN connector)
MIC: 6 mV/10 k ohms
DAMBING FAGTUR. 3. o0 oo iiios vhe wm 5 e oor vmie 35 (1 kHz, 8 ohms)
MAXIMUM INPUT VOLTAGE . ................ MAG PHONO: 150 mV (Hi)
300 mV (Lo)
TONE CONTROL RANGE
BADS .o o s waiioas S 208 S RS SR B R +10dB (62 Hz/125 Hz)
Turnover frequency 250 Hz/500 Hz
MIDBANGE: ... ovn vo oa povas os S0ves og a5 *6dB (1 kHz)
TREBLE vias voviciies: &5 Sen S0 5505 o8 s +10dB (10 kHz/20 kHz)
Turnover frequency 2.5 kHz/5 kHz
TONE CONTROL SWITCH: ... .icvonm vivcve s aius Switchable: flat and variable
LOUDNESS SWITCH . . . . ... ... i 50 Hz: +12dB
(Volume control set at -~ 30 dB position) 10 kHz: +3.5dB
HIGH FREQUENCY FILTER. ... .. ............ 10 kHz: -10dB
TAPE OUTPLEE LEVEL .. & o0 svvines o o s a s TAPE REC A: 150 mV
TAPE REC B: 150 mV
TAPE REC B: 30 mV (DIN connector)
HEADPHONES: Low impedance
GENERAL
SEMICONDUCTORE . St i wareins ws ace ICs 5
Dual transistors 4
Transistors 33
POWER REQUIREMENT .. ... .. .. .c0vivunnnn. 110V/130V/220V/240V (Switchable)
POWER CONSUMPTION . ... ..... 0. 360 watts (MAX. 4 ohms)
150 watts (UL)
240 watts (CSA)
DIMENSIONS: ..o oo sonmmmmins se soammies an seiass a5 § 500(W) x 164(H) x 295(D) mm
without legs and knobs
NET WEIGHT - v o vromiais o vwiems o0 swwias oo 8 without package: 14 kg

with package: 18 kg



2. ALIGNMENT PROCEDURES

TEST EQUIPMENT
The Test equipment listed below are required to test and align the AS-3300 HI-F| Stereo Amplifier.

a.

b.

C.

Audio Signal Generator: Frequency; 20 Hz to 20 kHz variable

Qutput level; 0.5 mV to 1V variable.
Power Meter: Capable of measuring 0 — 100 watts.
Dummy Load: 8 ohm 200 watts.

POWER METER ALIGNMENT

a)

Connect the output of an Audio Signal Generator to the left “AUX-1" input jacks on the amplifier rear

panel.
p DUMMY LOAD
AUDIO - w5
- h¥4
SIGNAL 2 ﬁ‘i ﬁfr < = 2§ow @ POWER METER
GENERATOR " s 3

b)
c)
d)
e)
f)

q)
h)

i)

k)

Figure 1. Test Set-Up

Rotate the Selector Switch in the AUX 1 position.

Place the Mode Switch in the STEREOQ position.

Rotate the Speaker Mode Switch in the A position.

Connect the 8 ohm resistive dummy load to the left A SPEAKERS output terminals.
Connect a Power Meter across the 8 ohm resistive dummy load.

Temporarily, set the Audio Signal Generator output to zero.

Rotate the Volume Control to full clockwise position.

Set the Signal Generator to 1 kHz and increase the signal generator output until Power Meter brings on
the b watts of meter scale.

Next, adjust RV1 on P.C Board PSPW023COX to bring the meter position on the 50 watts of Left
channel output power meter on the front panel.

For the right channel power meter alignment, connect the 8 ohm resistive dummy load to the right A
SPEAKERS output terminals and Power Meter paralleled with it. Then, adjust RV2 in the same manner

TR

as step “'j"".



TONE DEFEAT

3. BLOCK DIAGRAM

HIGH FILTER

&)

TAPE B

LOUDNESS PLAY REC

&

DUBBING

TAPE A
REC

N PLAY

N

SPEAKER A
SPEAKER B
SPEAKER C
METER LOG. AMP —
I
RELAY MAIN AMP
|
SECURITY PANEL — PROTECTION J
™) SECURITY
S PANEL
CONTROL
o

AUX-2

AUX-1

TUNER

PHONC-2 PHONO-1

© ©

Figure 2.

<
TREBLE
X
BAES ] S e e R i oy e e S SR ST T | K i e e e &
- %Zg 0 3 ¢ —
TONE AMP PRE 1 TAPE TAPE EQUALIZER AMP
AMP BALANCE: - NOLUME MONITOR MONITOR
B} (A}
s PHONO LEVEL
TREBLE TURN OVER MODE SW CONTROL
MAIN +B . = @
} . '
MIC AMP /MIC
e 4
PRE.+B — pc 2 % /
PRE.-B — | REGULATOR = Vi mf
/.r‘
AC POWER % MIC LEVEL ,/
R e VR N R P o T T S U ) T P



4. ELECTRICAL PARTS LOCATION, PRINTED CIRCUIT BOARDS

r P - —~
®
1.
()
x
o
2 1 7 g
™~
& = i
o
a
- P
3
Lyl
m 3
IJ as A D ;
e ] N, = :
| 4
14
%
| i —

Figure 3. MAIN AMPLIFIER (PSMA026COX)

Figure 4. TURNOVER SWITCHES (PTSW049COX)



Figure 7. LAMP SWITCH (PSAZ009COX)

Figure 6. MIC AMPLIFIER (PSAZ007COX)



Figure 9. TONE CONTROL (PSPT008COX)

Figure 10. PRE AMPLIFIER (PSPA029COX)



EXPLODED VIEW




6. SCHEMATIC DIAGRAM

/ / 0 s 5,
I_ D@DEE = - (E -
cIT R25 2.2K
1 a700F W l - 6
RZ6 2.2K
h PSPTOO8COX
Qil,2
1 25A798(6)
03"‘ R52 534'_0
2scieas(q.R) 680 120P
RS54
. 0s.8 RS2 C36 0ss
25C1685(Q.R) VRi-a 1l
(200K MN)
R4 2.2K
! Ll o 11 pe
4T, 1r L Vi A
25 RT : cT -TREBLE - 5K
il s - i_zz:c 3rs, o807 ? | £ 5k-— .. kel
&3 i E__| —t $oon | was D83 U R2?
£ : CLAEE A ;_Is?x | Q-TN:'TK [I -0l ATH
i T b e VA
R RI3 - ~
i T QIO e |1 gt cntemer Fogtl
- v ; e
"3 | &R aV] R33 10K =
I.5KL_-E|-___:;: 9252% e Lo | i J
=I5 -85y RIS
. B2k g V% - (&=
RI RS + 2 I -z
Fozk  2.2x3 ::“7 o9 i
- & Ci C7
Gzz] 033
PSPW049C0
. :
i
e | ! 3
3 Ot =
3 i £ri0  ecsor ;
E Z2.2Zm s
Rz sl .‘ .
Jxox rRiz mis | Frie T
3 6.8K  TSK 27K |[. b ! - |
i ¥ -
PHONO | 4 67 x A562 s 1| |mzs | Rzaz [ ci2) mae
PHOND 2.0 'i-gz{g ir 1 ".:: PR H LAz AT Lo AT 3,
5
a2 e T ' sus | 47 4 5
e Foak 21 i o RC25 a4 l
ax 20 - 2t IR
-—

o P
PSPAO29COX - :
- - J——— G 94 - - - - - —
K & 2

| ~ 4 8
PSPW023COX 9 3
25CI685 x 4 28CIT
i (Q.R) IF.
Ril RIS
ATOKZ  18KT Q3 Q
= 151555 b i
o fLiN
c
fh oL o | 7 7. moos gl
Lt} 12 50 ®2 gEOK
<5 1t
47, c7
e 25 150P
us iima RIT =R RZ3
G) 56K a3k 9 30K 220w
sss >
0
Ri2 LRi6
) 470K Ziek 04 Q
D4 i 1
< a2 $
A cio 151555
Rz + T I % Rrz2
4TH # L | /50 12 gany
SEMICONDUCTOR TERMINAL CONNECTION ' 3 ca 02 €6 —
cs
| BOTTOM VIEW UNLESS OTHERWISE NOTED) m} avz = 4740 15555 s 1806
E:EMITTER C :COLLECTOR B: BASE {4} 1coK(B! sinty 2 s L R24
<RI
Ssex Tk ol
BCE BCECE 8765
oo coo ‘---I cooco M o
ECE BCE z==z - = = PoWea
1234
1234587 Sl
25C1685 254 847 25CI826 254798
254564 25ciTos 250358 TATI36P c4558
2sceze 25A768
SIDE VIEW

Qo)

12345678
S-60wW



= Q.2 Q3.4 @5.86 Ql2.,14,15,16 1T QI3
'L @ PSMA026COX 25AT98 (F) ZSDEESB 25C 1708 (F.G) 25CI685(Q.R] 25A564A (QR)
1 (DE)
oy i ” 7 J4
i = X +ir_u L1 %
e - 3 3 . ¥ - 50 28uH q‘-:(l(ﬁup I L
_— A
ais 19 rc—/— ,3% :"“‘
mi7 =] \"\{ 1]
s60% - gy e
270 (2wW) i H
1
:I; ;fé‘\ ! Oy I3
{c ! t?()\t FROTECTION : : o
L)ﬁﬁ P pLe |
Qe I I - i — 5
RED _' I E L
s i THa |
P A N ]
'L@)_ R
RES 47| 64 330 (W PLz ! ol
ﬁpﬂ i e :
01| 1 &
i RSS Frwl ® { PL3 : U e
sz QT i ;?I Iy fo L
BEK 2z | |1 i —0l £
e o v 1 i ’__@ SPEAKI
y] 2 93 151558 | "
T B T 010 I OIS 1)
|i'§62 siBss R gz [181558 | e
q—' W L T
1l
RIE_ 22K *ic‘“ %% ; O SPEAKER MODE 5\
W NG = L2 2.5y ClI6
AN : %m _: ATO0P ,-) | A
i ] 28
Tie |12 OV‘: ﬂz‘?‘ 0 v———ﬂ ic
: S60W i i 1_ J 4 A+B
A700F) = 8O3V | | Seuw gu 5 A+C
—LEV L B oy ciz 210 (2wW)| & PHOMES
i F o ®
2
- SHTIHE - - — — - -
09 Qll Qi3 |
o 2sC1685  25C1826  25CI685 ®=—0
(@R} X (Q.R) ] :
85y ,G_I‘L #3.7v = 44.2v : nc,HO/tao/zeo/zwv
rai| [m32 R 40 ; 50,/60Hz
FBK‘ 3.6K ozl
+ 773 - =
, Bes || o] B Wi@
100, 22
- Yos| |“%4s .
470 220, 240V 23aT
4.4 IICIAI 130V saT
RET 3
at0 w55 D13 55-5
zzx| vo¥ "l?;f Di4 SS— SR
15155 2 1
licd o | istass | SZZ017C0X
¥ 9
DIy
] + 4 e
cis ¥ M‘-‘. cis ] ¥
Rze 00 %2s| 1ax| *¥5s
470
—1a.5v " 4av
RZB v
410 Qlo Qiz Ql4
E 25A564A 25AT6E 2545644
(Q.R} 0.y {Q.R)
rER = = &

POWER METER
MZ (R}

NOTE .

|. ALL VOLTAGES MEASURED FROM COMMON NEGATIVE
CHASSIS GROUND WITH VTVM AT NO SIGNAL.

2. CAPACITORS VALUES ARE IN uF UNLESS.
OTHERWISE NOTED P=PICO FARAD

3. RESISTORS VALUES ARE IN OHM, K=K OHM.



7. PARTS LIST FOR AS-3300

SYMBOL NO.

DESCRIPTION

M1, 2

PL1—4

PLS -7

S3
J3
S1

Cc1,2
R1
R2,3

PT

F1,2
F3,4

Fuse 2.5AT (spare)
Front Panel
PW Board ass'y (MIC)

" (TONE AMP)
Bushing, function sw. shaft
Frame, meter
Meter, power
Spring Board, meter
Bushing, security lamp
Lamp, 6.3V 35mA SECURITY, POWER
Bracket, security lamp

"

lamp board brkt
” lamp board
PW Board, (LAMP)
Lamp, 8V 0.3A blue
Socket, lamp
Bracket, turnover sw.

PW Board ass’y (TURNOVER)

Rotary Switch, SPEAKER MODE
Jack, 3P HEADPHONE
Switch, lever POWER

Cover, power lamp

Chassis

Bracket, chassis reinforcing, left

e

case fixing
3 chassis reinforcing, right
Elyt. Capacitor 10000uF 50V
Metal Oxide Film Resistor 56 ohm 2W

" 1.5K ohm 2W
Connecting Plate, Elyt. capacitor
Terminal, GND earth, chassis
Power Transformer
Bracket, power pw board mtg.
PW Board ass'y (POWER)

Fuse BAT
2.5AT
Bracket, bottom case fixing

SYMBOL NO.

DESCRIPTION

IC1, 2

S2

Bracket, heat sink mtg.

Heat Sink

Integrated Circuit S-60W

PW Board ass'y (MAIN AMP)

Rear Panel
PW Board ass'y (PRE AMP)

Coupler, function sw.

Shaft, &

Spacer, MAG SENS sw.

Jack, 5P DIN

Fuseholder

Terminal, GND earch, rear panel
Socket, Voltage Select

Support, voltage selector

Cover, "
Jack, AC

Terminal, speaker jack
Escutcheon

Handle, escutcheon

Knob, MIC VR
& SELECTOR, SP MODE
" VR
" BALANCE

Button, push sw,
Spring, push button
Lock Ring, push button
Knob, TURNOVER
Buffer, power sw.
Knob, POWER
Case, top

“  bottom
Foot
Tie point 16mm
Label
Screw, tapping, rear panel etc.

"

M3x8
M3x8

semus, power sw. tone board etc.
M3x6

pan tapping, pin jack

"




SYMBOL NO. DESCRIPTION SYMBOL NO. DESCRIPTION
Screw, flat head, escutcheon M3x8 Q3-6 Transistor 25C1685 (Q.R)
" pan head, slide sw. M2.6x8 VR1 Control 200KMN/200KB
" flat head, handle M4x10 VR2 -4 . 50KB
" tapping, chassis, front panel etc. Terminal, 3P
M3x8 P 6P
" inside toothed, main board Gt;).{g Bracket, control mtg.
tapping, meter cover M3x6 DGR, sanmm M
" ' it M3x14 Short jump(.er 10mm
aan haad; Dio jack M3x6 C1,2 Elyt. Capacitor 3.3 uF 25V
" flat head, AC jack maxg | |C3otng Ceramic Capacitor 12 pF 60V
" pan head, voltage selector M3x16 CS, 6 " 33  pF 50V
Hexa Nut, AC jack, voltage selector c7,8 " 680 pF 50V
\Sné?es:for; inside toothed, AC jack, voltage C11,12 Mylar Capacitor 01 uF 50V
Screw, bind head case M5x10 Ci3.14 i 8200 pF S0V
Washer, flat, foot C21, 22 Elyt. Capacitor 22 uF 25V
e Gy C23,24 " 47 uF 25V
Earth Lag, egg type C25, 26 g 47 uF 10V
Instruction Book - Eng. - French version C27,28 & W pF BV
" . < Sadien vaisian C33,34 Ceramic Capacitor 120 pF 50V
PW Board C35, 36 Mylar Capacitor .068 uF 50V
Q1,2 Transistor 25A847 (F.G) H;’5?5E Carbon Resistor 82K ohm 1/4W
Q3,4 = 25C1708 (F.G)
J1 Jack, MIC Hgbf"zga?so : L
VR1 Control, 10K Riée 48 o 20Kk 7 o
Short jumper, 12.5mm -
61,4 Elyt. Capacitor 3.3uFuF 25V R7.8 i 2k
C3,4 Ceramic Capacitor 82 pF 50V R9, 10 2 22m "
C5,6 Elyt. Capacitor 10 wF 16V R11,12 B 68k ~ “
Cc7 — 10 " 47 uF 25V R13, 14 " 75K & i
c11, 12 % 1 uF 50V Rég: ;ﬁ o 82K "
C13 Ceramic Capacitor 4700 pF b0V 17.18 B
C15, 16 " 10 pF 50V R39’ 40 3.3K
R1, 2 Carbon Resistor 15K ohm 1/4W R23 — 28 47K
R34 o 100K " 31,32 w i %
RS, 6 " 180k R33'_36 o
R7,8 o 680 v " R37, 38 %l 47K e &
R9, 10 ” 270K ¢ o R41,42 e 43K " "
R11,12 7 2.2K : R49, 50 N 39Kk " iF
R13, 14 " 12K " " R51,52 i 680 ® "
PW Board PW Board
Q1,2 Transistor 25A798 (G) Push Switch

10




SYMBOL NO. DESCRIPTION SYMBOL NO. DESCRIPTION

PW board joint wire, 11P R15, 16 Carbon Resistor 18K  ohm 1/4W
Ci-4 Mylar Capacitor .022 uF 50V R17,18 2 33K "
C5,6 % .0047pF 50V R19, 20 "’ 39k 7 L
C7—-10 " .033 uF 50V R21, 22 = 680K "
C11,12 e .0018uF 50v R23, 24 " 220 " *
R1,2 Carbon Resistor 1.8K ohm 1/4W R25 — 28 " 470 ”

PW Board R31, 34 L 18K " £
IC1 Integrated Circuit NJM4558D R32, 38, 39 " 56K o
Oé %4 Transistor 25C1685 (Q.R) b 15K Y

13 R35 L 22k " “

Q5.6 25C1708 (F.G) R36, 37 " 470 " "
Q10,14 2SA564A (Q.R) R40, 41 Metal Oxide Film Re. 10 "1/2W
Qi 2SC1826 (Q.Y) PW Board
Q12 o 28A768 (Q.Y) Q1,2 Transistor 25A798 (G)
D1 —11 Diode 151555 Q3,4 G 2SD358 (D.E)
D12 Diode zener MZ314 Q5,6 - 2SC1708 (F.G)
D12 ' SS-5 Q11,13 o 2SABB4A (O.R)
D13 % SS-5R Q12, 14-17 " 25C1685 (Q.R)
RV1,2 Resistor semi-fixed 100K D1-_8 Diode 151553

Fuseholder D9 . VOBC

Heat Sink D10 — 12 & 151555

Short jumper 12.5mm PS Posistor (Thermistor of positive character)

Terminal, 6P 7.5mm PTH487A03BE302TS

o a4 Lt 2 Choke Coil 25 uH

Screw, tapping M3x8 L3 Relay

Lead Wire, solid type 40mm Terminal, 6P 7.5mm
C1,2,9,10 Elyt. Capacitor 1 uF 50V i 6P
C3,4 " 47 uF ov Short jumper 12.5mm
C5,6 4.7 uF 25V C1,2 Elyt. Capacitor 47 uF 25V
C7,8 Ceramic Capacitor 150 pF 50V C3,4 Ceramic Capacitor 220 pF 50V
C11,.12 Elyt. Capacitor .68 uF 50V C5,6 " 4 pF 50V
C15, 16 " 100 uF 25V Cc7,8 14 12 pF 50V
C17,18 " 22 uF 35V C9, 10 Elyt. Capacitor 47 uF 35V
c19 2 47 uF 16V C11,12 Mylar Capacitor 1 uF 50V
C20, 21 " 100 uF 35V C13, 14,19 Elyt. Capacitor 1 uF 50V
C22-25 Ceramic Capacitor .01 uF 500V C;g' ;g g; Ceramic Capacitor 4700 pF 50V
R1,2 Carbon Resistor 47K ohm 1/4wW S
R3, 4 i 82 i ” C17,18 Elyt. Capacitor 47 uF 10V
RS, 6 - 150K " » C31,32 " 33 uF 16V
R7.8 i 220 5 = C37 Mylar Capacitor 3900 pF 50V
RO — 12 470K o C38 Elyt. Capacitor 22 uF 50V
R13, 14 56K " " C40 7 33 uF 25V

11




SYMBOL NO. DESCRIPTION SYMBOL NO. DESCRIPTION
Cca1 Elyt. Capacitor 100 uF 16V Short jumper
R1, 2 Carbon Resistor 47K  ohm 1/4W 0 B Tantalum Capacitor 2.2 uF 16V
R3, 4 ! 1.5 " bt C3,4 Ceramic Capacitor 47 pF 50V
R7,8 & 47K " Cb, 6 " 10 pF 50V
R9, 10 " 3.3K ” C7,8 Mylar Capacitor 1200 pF 50V
R11,12 i 43K o 2 C9, 10 = 3900 pF 50V
R13, 14 Metal Oxide Film Re. 56K " 1/2W C11,12 Elyt. Capacitor 22 uF 10V
R15, 16 " 2.2K * i C13,14 e 4.7 uF 25V
R17, 18 e 5.6 2 w C15, 16 * 1 uF 50V
R19, 20 10 " 1w C17, 18 Ceramic Capacitor 4700 pF 50V
K21, 22 .y ag o oW Rigtin & Carbon Resistor 100K ohm  1/4W
R31-34 Carbon Resistor 10K o 1/4W !
Rb, 6 " 1.5K " &

Raa, 49 ! o R9, 10 & 62k »
R37, 38 “ 56K " “ R11,12 e 750K "
R5, 6 i 39K " g R13 - 16 s 24K rs
R39, 40 £ 2.2K il k 17,18 o " "
R41,42 “ 8.2K r R25, 26 i
R43, 44 i 29K P= R21, 22 390K t
R56, 72 e 33K 4 %
R57 = 1K i
R58 = 82K " 1
R59 " 150K " "
R60 220K 7 "’
R61 ” 470K 7 %
R62 " 10. " "’
R63 " 12K w £
R55, 64 Metal Oxide Film Re. 330 TIW
R65, 66 Carbon Resistor 18K T 1/4W

7,7 " pr '
“51: 2 -
R68 Metal Oxide Film Re. 470 " 2w
R69 £ 1K o

PW Board

IC1,2 Integrated Circuit TA7136P
S1 Slide Rotary Switch PHONO1-AUX2
S2 Slide Switch
J1-3 Pin Jack, 4P
Ja “ 8P

Terminal, 3P bmm

PW board joint wire, 11P

12






